& Aol 500 9 SHe= TAE7E 600 Yo 2

=2

L2715 7] 2000 Y st=

ofolAaHLE 4 7o 2000 Yol HAFUT oL F9| AEC]

Ak} o] E5U7

@ B2}, 5% @ 2 10%
® AEol oyt @)orol 228, 5%
® otolA3™, 10%

T2Le] QIAHE ¢ 600 - 500 = 100 Y 202,
100

—— %100 =2

=0p X 100 = 20(%)

ofo] AT & o] QIAHE : 2000 + 5 = 400 (¥)

— 2000 + 4 = 500 (¥) 22 500 - 400 = 100 ¥
100
(%)

olo] A o] 25 - 20 = 5( %) T E5Uth




_--10cm- ~ _

\
\
@D 7lcm
@ /
il%cm
1 1 7
@1 @ 1 ©) 3 @ )

(@°] Wol)=10x 7+ 2 = 35(cm?)
(@2] Wol)= (34 10) x 10 + 2 = 65( cm?) ]| B &

35 7
nlo] zro 22 = ' o
19] 342 A Yt




3.

o 5 27IUR 4Tt b2 AL o= AdY7E
o % @
&P i

@, ®, ®, O= #7771 5714 0],
@€ 47144,




& DY L FHOR 857 Bk, A% 5o MIRE
= 9 b U, 7P 9le] 2221 % 2, 7V otelo]
- 2 8502 AZste] BAE BES S4L.)

o

2%

3

Oth

@ 17970 (@)4047]1 @ 2767}
@ 22574 ® 16971

24 A= FATTY] FA YU
Bae 20] B 1 (3x3) + (Tx7) + (11 x 11) + (15 x 15)
=9+ 49 + 121 + 225 = 404( 7N)




& A4 7k e A2 BRI 99 Wolo] ta 0 ¥
7

u1E b 2R Aase] )2 ekl 2L ol AU

4em
@b
Q) ©
@L— L .
“9cm-’ ~1lem-”
@ 9:11 @ 45:75 ® 9:15

Eolg [ tx shd,

@9 dol: 9x[ ]+2

©9 Hel: (4+11)x[_]+2

[ kert ooz yeksiu

W o] Zol2 BHE A9 FU

@] Hol] that O] Hel=15: 9
7 7hks] W12 R, 5 3yt




A7

(RS




